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Explanation
The student is required to cross-reference multiple headings 
in a table to locate information that is not near key words. The 
relevant information is in the row ‘Comet Express’. The fi rst two 
columns are the age and height restrictions for accompanied 
children and the next two are the height and age restrictions 
for unaccompanied children. The student must read both the 
question and the text carefully to be able to select the relevant cell 
amidst the competing information.

Text complexity
This text has mainly familiar content and structure. The main text 
is a table that shows the requirements to ride each attraction at a 
fi ctional fun park. There is also a smaller table that is a key to the 
symbols used in the main table.

The text’s complexity comes mainly from the density of the 
information contained in the two tables and the fact that the 
main table cannot be understood completely without reference to 
the key. Additionally, there is diffi cult vocabulary like ‘minimum’, 
‘restrictions’ and ‘unaccompanied’, and also non-words used as 
names, like ‘Zorbitron’, ‘Orbitor’ and ‘Gallexicus’.

A child wants to ride on the Comet Express with an adult.
What is the height restriction for the child?

A minimum 80 centimetres
B minimum 90 centimetres
C minimum 110 centimetres
D minimum 120 centimetres

Answer: B. minimum 90 centimetres

Fun Park


